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Answer About the following questions:
(b @) Use fxed point method to lind an approximate value for V3 with 107" accuracy.
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{1- b)I[ [(x) === show that {|a,b,c|= A .
R abe

(1 - ¢) A fourth — degree polynomial P(x) satisfics A'P(0)y=24, A°P(0)=6 and

ATP(D) =0 where AP(x)=P(x 4+ 1) — P(x) compule APP(5).
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(2--a) [fthe given data for the function ¢ ™™ use Lagrange formula to find P(1), P'( 1)

and the ervors Ti(1) , E'(1):
% | 0 [628 ‘ 0.5

el
[
l f(x) J ] IFW*S—'"(R_T ;

o ]

2 b) Use Trapezoidal to find J Inx dx from the data
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{x ] 1 7\“15_ TN R
| 1(x) l 0 | 018 [ 034 | 047 | 059 | 0.69
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(2 b) Use Runge—Kutta of order four to find p(0.2) where y'{x) = x4 y*(x), p(0) =1 and
h=0.1.

Ale daaf .2




